BT TRIA O - HEHHEE X T 3;5217&05)% KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,981 87,046 41567 45479
RIRET1T 4 12 6 6
RIRET2T 25 54 26 28
RIRET3T 157 506 248 258
RIRET4T 386 979 481 498
B 572 1,551 761 790
REH 2,641 6,239 2,918 3,321
L&A 4,188 9,583 4,536 5,047
5E 2,497 6,000 2,907 3,093
B AN 1,233 2,832 1,326 1,506
BERT 1,140 1,823 863 960
BER2T 677 1,349 646 703
BHERST 398 908 450 458
g 2,215 4,080 1,959 2,121
BARE 252 651 326 325
= 2,200 5,308 2,498 2,810
hERE 615 1,448 664 784
e 2,369 5,243 2,539 2,704
25 L ET 2,236 5217 2,491 2,726
B &AL BT 67 146 57 89
HEFILET1T 576 1,261 593 668
HEFILET2T 608 1,376 650 726
HEZFILAT3T 592 1,393 685 708
g 1,843 4176 1,985 2,191
B & it B Fr ET 683 1,676 817 859
BHEREBET1T 600 1,237 588 649
BHERERET2T 752 1,775 872 903
BHERERETST 767 1,659 752 907
HEFMHET4T 458 1,016 491 525
HEHFMHETST 798 1,660 801 859
HEHFHET6T 871 2,021 972 1,049
HEFRET7T 841 1,947 944 1,003
HERERETST 66 199 97 102
£t| 5,153 11514 5,517 5,997
HEF R FET 1,802 3,930 1,912 2,018
S|EFET1T 558 1,514 756 758
S|EFET2T 762 1,838 873 965
S|EFET3 T 710 1,440 675 765
g 2,030 4,792 2,304 2,488
ERE1T 554 1,341 647 694
EIRET2T 384 994 488 506
EREIST 467 1,320 638 682
EIRETAT 683 1,548 707 841
EIZEIST 468 970 489 481
g 2,556 6,173 2,969 3,204
MEH 2,791 6,415 3,038 3,377
J\THET1T 24 27 8 19
J\THET2T 25 63 32 31
J\THEI3T 56 128 60 68
B 105 218 100 118
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